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O sIIBAIE ElAE |2l (23,4
) 200,000,000 200,000
== ZHl AIE 11,156,94 13,895,501 N2,738,547
< 185,200
Al 10,971,7%4




A A4t
MM SEHAGET
TP SMAD|BIAIA 9K 22 (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 210,74 200,000 10,754
01 Ar2eltl 210,154 200,000 10,154
O sii+2 E&(HUILR)
200,000,000& 200,000
O JIgZES 2=eie =7 JEEE7Y
1,000,000& 1,000
O JIBEs 2SS =X FUIYK
9,154,000& 9,14
02 324l 600 0 600
O JIEHEM DIAYRE S|
600,000 600
401 AIEHIZ 2018 5,930,200 7,681,501 A1,751,301
= 25,200
Al 5,905,000
01 Al&HI 5,922,280 7,651,265 A1,728,985
O ZEti+=2 2IRAMZ ALY
300,000,000& 300,000
O 8ti=2 M= RXE=
50,000,000 50,000
O S22 AIE 2SI
100,000,000& 100,000
O S22 At AISEXI Y]
100,000,000& 100,000
O SHE0|o4 MASHT] S22 ™EI(FS
o) 1,000,000,000& * 99.37% 993,700
O ¢EielE WA OIS =2 ZHISA
25,000,000& 25,000
O GlEielES gate| 8138 Xl =H Stis=2 &
HIZ At 30,000,000 30,000
O dlEiels dEel 77-19A stl=2 EHI3
At 20,000,000 20,000
O GIEfel S ¥&el 8769 =2 HUISA
20,000,000& 20,000
O dlEfelg HXits sl=2 ZHISA
15,000,000 15,000
O dEielE Fel 7938 stis2 SUISA
35,000,000& 35,000
O ¢t AMitS(EEele0-1)sti+=2
SHIS A 20,000,000& 20,000
O QlEels 2ot sl=2 ZHISA
15,000,000 15,000
O &lEfelS Ns0te FI(2ulel 32-2) 42
SHIS A 31,200,000 31,200
O =H ZM0I2 =2 &EXI3AH2)
25,000,000& 25,000
O =M 2A2R0I2 =2 EXIBAK3)
59,460,000& 59,460




SA AL
HY: sEZAEN
Rl SYALD|BAIE FX2
S A - BRI - HRA - BES of e A
O =9 0t&cl 832-1ti=+=2 &XISAt
50,000,000& 50,000
O S8 S22l 1284 =2 HHISAH
60,000,000& *99. 10/100 59,460
O =0 32012 Y2 SXITA
15,000,000 15,000
O =8 ZFM0IE =2 EXI3A
35,000,000& 35,000
O =8 ZM0t= =2 ZXISAt
35,000,000 35,000
O g8 otdils =2 SHISAH
30,000,000 30,000
O g AE0= =2 SHISA
10,000,000 10,000
O g XH0ts =2 89 SXI3A
30,000,000& 30,000
O g HEel =22 ZXISA
35,000,000 35,000
O 2 POMHOLS tha2 BUIZAl
15,000,000 15,000
O ggH A0S =2 ZHISA
30,000,000& 30,000
O g2t dS0= =2 SHISAH
30,000,000 30,000
O g8 JieltiotE Bi+==2 ZHISA
25,000,000& 25,000
O YgH J0ts =2 ZHISA
30,000,000& 30,000
O g8 OtMdel =22 EXISAt
10,000,000 10,000
O g2 Ot4el B2 ZHISA
15,000,000& 15,000
O 2dH SUOtE =2 EXISAt
40,000,000 40,000
O 2dH DS =2 Z2XISAHFEL
428-52 &) 26,000,000 26,000
O A8H OIS B2 ZXISAHFAR
40624 2) 8,500,000& 8,500
O 248 JIZ0IS tH+2 EXISAH1)
17,000,000& 17,000
O 249 HLOt= =2 E+3SAt
17,000,000 17,000
O 248 HB0t= == EXISA
33,000,000 33,000
O adH FO0E =2 EXSAt
20,000,000 20,000
O 2488 HAF0I= =2 EXISA
20,000,000 20,000




SN ALD
MM SEHAGET
TPl SUMADIBIAIA X2 (9] Mo
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O 449 J|HOIS =2 EXIBAH2)
12,000,000& 12,000
O 129H J&=0t=(24e| 5122 duls
Al 20,000,000 20,000
O 124 AH0S(Zetels)ti+=2 JEls
A 22,000,000& 22,000
O N2H MS0S (=2l H)ti=2 Hul=s
A 23,000,000 23,000
O N2YH tielots(a=SelaH7-3)ti+=2 &t
SA 22,000,000& 22,000
O N=2Y styoE(8s2128)ti=2 Jul=
At 21,000,000& 21,000
O 12H FEoS(Z&E2M10)8+2 HUl=
A 13,000,000& 13,000
O N84 ZaOrs (&2l 236-1)i+=2 Jul
SA 21,000,000& 21,000
O 124H otd0tE(Zne4n)E8+2 ddl3
At 20,000,000& 20,000
O N2H =e|0ts(We1257)i=2 Jul=s
A 25,000,000 25,000
O N2 =202 =2 EdISA
12,000,000& 12,000
O G3H FSXF == HUISA
50,000,000& 50,000
O Z22H Sdel 22 ZUI3A
60,000,000 *39. 10/100 59,460
O 38 =2l 8PE+Z ZHISA
60,000,000& 60,000
O Z2H 24de| 24+2 ZHI3A
75,000,000 75,000
O J3H S20t2 =2 EUISA
50,000,000 50,000
O 93X WYL 114 222 JUHISA
50,000,000& 50,000
O GaH HY2| 12468=Z HEISAL
55,000,000& 55,000
O 9&H 42| 1169 =2 SE S A
20,000,000 20,000
O E&M™ THel 5341 =2 SAt
40,000,000& 40,000
O 9&™ Mste| 7031482 EXISA
30,000,000& 30,000
O Y& Gtetel 1203 =2 S At
50,000,000 50,000
O 4&H a2 10640l=2 8 XIS At
10,000,000 10,000
O Y&EEH A3 726 Bi=Z AXIBAl
20,000,000& 20,000




A A4t
MM SEHAGET
TPl SUMADIBIAIA X2 (9] Mo
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O Y&H T2l 3187 =2 S At
20,000,000 20,000
O E&M™ THel 1340 SEEX SA
30,000,000& 30,000
O 0lE™H ZBHe| 156822 HHISA
60,000,000& 60,000
O 018H FH2| 885-52+2 FHISA
60,000,000 60,000
O 01EH X2l 640 BH=2 HHBIZAl
40,000,000& 40,000
O 018X BHe2| 1603 =2 XHUISAt
30,000,000 30,000
O 0lEH BHZ| 1490 845 JUISAL
30,000,000 30,000
O 0lHH =2l 1184 22 JHISA
16,000,000& 16,000
O 0|8H X2l 4086 E+Z HHISA
10,000,000 10,000
O 0lEH™ At0H2I 1018 Hi==2 FHIS At
30,000,000 30,000
O 0lEH EHe2l 1370 =2 HHISAt
35,000,000 35,000
O 3220 =302 (=Z21106)tl=2 JHl=
At 35,000,000 35,000
O 2% =30t2(a8211280)8=2 HUl=
A 16,000,000 16,000
O d=2H 382| 1014-2~10280+=2 HEIZAl
30,000,000 30,000
O 220 g=012(sHdel571-3) =2 &l
2 A 17,000,000 17,000
O H2H MADIS(R4r2] 878)8=2 HUl=
A 20,000,000 20,000
O 20 A=S0E(M=21370-1374) =2 &
HIS Al 18,000,000& 18,000
O 320 Hz=2| 912-109X| th+=Z HHISAt
13,000,000& 13,000
O =20 =2l 977-18 Xl ti=2 HEIZA
30,000,000 30,000
O ZH Uatel 776-5~776-11HX| Hi==2 JH|
SA 100,000, 000& 100,000
O 29 H=0S (U A2 1320~139)Hi+=2 &
]l 30,000,000& 30,000
O BelH Y2e| 9689 E+2 HBIZAl
25,000,000 25,000
O BfelH Z4t2| 736 =2 HBIZAl
20,000,000& 20,000
O EHQI™ EHA | 1404-5 b2 A XIS A}
20,000,000& 20,000
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M sEEAFEW
TPl SUMADIBIAIA X2 (9] Mo
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HiQre Hatel 1165 Bi== EXISAt
20,000,000& 20,000
O HolE A0S Sti+== ZBISA
15,000,000& 15,000
O 2201 A2x 5| 45 U Y42 B
At 20,000,000 20,000
O 239 ANOtS(Zsel 656-16) A= X i
=2 HXIZA 30,000,000& 30,000
O 228 230ts(Zuel 899-1) == FH|
SAt 20,000,000& 20,000
O 238 FE0S(2Fel 46) =2 HIS
At 35,000,000 35,000
O 239 dnots(dsel 852) =2 &Xl
SA 40,000,000& 40,000
O 239 dsirs(dsel 1026) S8573
At 10,000,000& 10,000
O Z=H S4el S0l SPSA
15,000,000 15,000
O 229 20t2(252l 608) =2 &X
25,000,000& 25,000
O 239 40t (dsel 375) =2 ZX
15,000,000& 15,000
O Z=8 230=(2ulel 1912) =2 £X
SA 60,000,000 60,000
O Z=3Y ggirs(sel 717-8) =2 &X
SA 35,000,000& 35,000
O Z=8 2HMOIE F =2 EXISA
8,000,000& 8,000
O Z2=8 SNl 8442 FIHER &
At 5,000,000 5,000
O 229 g0t2(2F2l721-2) =2 4X
SAt 12,000,000 12,000
O Ss4 HLil= =2 EXISA
30,000,000& 30,000
O =39 d50t= =2 FBISA
20,000,000 20,000
O Ss4 +=&0= == ZHISA
15,000,000& 15,000
O ss4 2302 =2 ZHISA
5,500,000& 5,500
O SS9 NUOt= =2 ZBISAH
50,000,000 50,000
O =54 d30t= == ZHISA
33,000,000 33,000
O ss4 =d0i= =2 ZHISAH
20,000,000 20,000
O =39 AH0t= =2 2XSA
11,000,000& 11,000




A A4t
MM SEHAGET
TPl SUMADIBIAIA X2 (9] Mo
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O ==0 220IS ti+2 dxz2A(852
5402 &) 25,000,000 25,000
O SSH S0 2 EsAH(ESL
7162 3) 18,000,000& 18,000
O 2SS0 2012 42 FHIZAY)
20,000,000& 20,000
O 289 JdHOtS(Alat2] 1074-3) =2 &
HIZ At 25,000,000 25,000
O Z8H SHEOtS(8r=el 383-2) =2 &
SA 25,000,000& 25,000
O ZEH g4012(8t=2l 78) th+=2 &ul
S A 19,000,000 19,000
O 28H HADIS(2AR2l 239) ti+=2 &X
=IN; 17,000,000& 17,000
O 28YH Nents(er=al 329) ti+=2 Jbl
SA 7,000,000& 7,000
O 22H A0S (Aldte] %B7-4) =2
S A 25,000,000& 25,000
O 28H SA0IS(eeel 2130) =2 F4l
=I\; 25,000,000 25,000
O ZBH TAOS (el 768) th+=2 &ul
SA 11,000,000& 11,000
O 223 42Xl =2 HHISAt
9,000,000 9,000
O 28 Zoois(etel 177) =2 F4l
=IN; 13,000,000& 13,000
O 289 AD|ot2(s8el 571-17) =2 &
HIS AL 20,000,000& 20,000
O 220 Sa0rS(8t=el 1423) FUe ol
2 A 25,000,000 25,000
O 280 HH0IS (ARl 708-2) A=53Al
20,000,000 20,000
O Z8H HAOIS (AR 162) A=5SAt
10,000,000 10,000
O 22H A0S (2Rl 252-2) = EH
2 A 10,000,000 10,000
O 289 A (WMl 155-4) =2 &
HIZS At 25,000,000 25,000
O Z2H AN0tS (W] 202-2) Ea+2 JH
SA 15,000,000& 15,000
O &S At 0S =Hi=2 ZHISAH
35,000,000 35,000
O &HHH Stellile stls=2 =22 8XI3
A 34,000,000 34,000
O &2l L 20t2 =2 EXISA
13,000,000& 13,000
O ¢&t2|™ 2IGH0HE =2 AXISAt
40,000,000& 40,000




SN ALD
MM SEHAGET
TPl SUMADIBIAIA X2 (9] Mo
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O &t2|™ OrEDtE ASSAt
100,000,000& 100,000
O &M NADIS =2 AXISAHT)
25,000,0002 25,000
O &t2|™ BAIDIS =2 AXISA
25,000,000 25,000
O &tIH ADI0E 22 EXISA
25,000,000 25,000
O &2H NEHDIE S22 ZHISA
30,000,000 30,000
O =485 E50I2 =2 ZHISA
22,000,000& 22,000
O =48 2302 =22 EX3SA
25,000,000 25,000
O =83 g0t =22 EX3A
20,000,000& 20,000
O =483 ZU0tE si==2 E=3At
18,000,000 18,000
O =83 Q&L= sti==2 EXI3A
12,000,000& 12,000
O Zgs oot =22 L HE AXI3A
23,000,000& 23,000
O ¥Es E30I2 =22 WHSAH
21,000,000& 21,000
O ZZE= HoI0te =22 EXISAt
13,000,000& 13,000
O XY= 2302 =22 L e dXI3A
23,000,000& 23,000
O ¥¥=E 2302 =22 EX3AH2)
17,000,000 17,000
O UFNE SH0IS 52 U 422 FHI3
A 18,000,000& 18,000
O UW&Ea=s dEOIS &A= JHE B AL
50,000,000& 50,000
O =43 SEOS =2 Ul At
20,000,000 20,000
O =43 =30t =2 EUISA
10,000,000& 10,000
O =45 ==20t2 =2 EUISA
45,000,000& 45,000
O =43 F20I2 =2 EHISA
15,000,000 15,000
O =43 220t= =2 EdISA
20,000,000 20,000
O otE2= 47381K 2 HHIZA
50,000,000& 50,000
O &8s 971-17 222 JUISA
40,000,000& 40,000




A A4t
MM SEHAGET
TPl SUMADIBIAIA X2 (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O &dus ZE10I2 2 ZHIZA
25,000,000 25,000
O AEE 73-228H+2 HHISAt
40,000,000& 40,000
O &dus 202 =2 ZHISAH
25,000,000 25,000
O ats B1-4HX S4+2 HBIZA
25,000,000 25,000
O &u=s &H0tE 22 EUISA
30,000,000 30,000
O THoHelE" 2TAIE EHI(EHeIH &tMOE
=== &U|)3At 84,000,000 84,000
= 25,200
Al 58,800
03 Al 2CHY 7,920 30,236 A22,316
O SS0|oa MALT] S22 -HI(F
o) 1,000,000,000& * 0.63% 6,300
O =H ALR0IS =2 EXSAHI)
540,000& 540
O Z2H 22| 2+2 ZUISA
60,000,000 *0.90/100 540
O =H =52| 124 =2 JHISA
60,000,000 *0.90/100 540
403 RXISHS AH=201H 5,016,000 6,014,000 A998,000
= 160,000
Al 4,856,000
02 SISO CHStR=2 X RIEAIS I 5,016,000 6,014,000 A998,000
O 220 2=0t2 (22l 1647-2) 82 &
u]l 150,000,000& 150,000
O AlEfelS glnts (=] 854 L&) ti2
2 4X 160,000,000& 160,000
O GlEfels BXot2(stsal 1338 L) 8
2 &xl 149,250,000& 149,250
O 0|8 0t2te| 688 L& 2 FH|
240,000,000& 240,000
O 0l8H 232l 1408 L& 22 JHISAt
130,000,000& 130,000
O 0|8H 232l 1429 === EHISA
80,000,000& 80,000
O 0lEH &H=c| 1055 the== ZHISA
150,000,000& 150,000
O =% 0t&el =2 EBISAL
70,000,000 70,000
O =9 &8 =2 HH|IZ2Al
55,000,000& 55,000
O =9 &2 =2 HH|IZ2Al
49,000,000& 49,000




SN AT
BN =R
&2l SHMLDIBIAIE |2l
S - B - SRA(SIH) - HSAY - BYS of et o
O =M &3 =2 HUISA
70,000,000& 70,000
O 2% A2l 1tH== ZHISAt
76,000,000 76,000
O Z=H Alel 202 FHISA
58,000,000& 58,000
O g% AHE=Xd HHISA
41,000,000& 41,000
O =Y AH-18=Xd ZHISA
30,000,000& 30,000
O Y HAH-28=Xd HHISAt
24,000,000 24,000
O &Y WAH-3E&=Xd HHISA
30,000,000 30,000
O 2% A2l 3ti== HHISAt
54,000,000 54,000
O Z=H Alel 42 FHISA
56,000,000& 56,000
O Y WAlCl st+==2 EBISAH
20,000,000 20,000
O 2% A2l ei== ZHISA
20,000,000 20,000
O E=H &= =X EHISA
95,000,000 95,000
O HOW Y B2 THIBA
20,000,000& 20,000
O 2% =2 == HHISAt
40,000,000 40,000
O ERY 38 =2 HHISA
20,000,000 20,000
O EHelH EHY 242 ZHISA
70,000,000& 70,000
O Z=9 Ze| 18332 2 EHISAt
37,000,000 37,000
O 2=9 Zue| 1863-1 =2 HHISAt
62,000,000 62,000
O 28 dgis =X HdISAt
147,000,000 147,000
O 0I18H 232l 1648 E== HUISAt
245,960,000 245,980
O Z&H Ade| 618 24+2 ZHISAt
232,980,000& 232,980
O NRH YA 637 22 ZHIZAt
194,503,000 194,503
O D2H ASe| 752 842 ZHIEA
84,367,000 84,367
O A4H 3tE2| 1149 =2 HHISAt
41,952,000 41,952




SA: AT
W RS
Gl SHMAD|BAIE FXl2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 249 2t&c 1158 == JHISA
58,596,000& 58,596
O ad® Jlelc] 5108 Bi=Z ZUISAt
95,372,000 95,372
O =&+ &4
100,000,000 100,000
O MEHeIE 3t=el 1049 S+2 ZHISA
250,000,000 250,000
O teelE st 1285 =2 FHISA
50,000,000& 50,000
O AAESE S48 HHISA
39,000,000 39,000
O MFHIES=XE SHISA
42,000,000& 42,000
O 0Ot A& ZHHISAH
63,000,000 63,000
O =838X& ZHISA
74,000,000 74,000
O 24 X4 HdISAt
50,000,000& 50,000
O &t Z=X1d ZHISAH
35,000,000& 35,000
O 2l S22 ZHISA
50,000,000 50,000
O Z82d 2 STY &=+2 FHISAHES
L AE S) 127,000,000& 127,000
O e =2 ZHISAt 133,000,000 133,000
O 22H 24| A s =4 FHISAM
120,000,000 120,000
O g X7 U=a FXdel
166,000,000 166,000
O U&=z olsyd =25l At
360,000,000 360,000
O MEfIE MEXNT ARZ HH==IHE ALY
200,000,000 200,000
< 160,000
Al 40,000
SIIetEHI(el A2 =) (HE) 1,400,000 1,900,000 500,000
= 1,120,000
Al 280,000
401 AlZHIZ 01| 1,400,000 1,900,000 500,000
=S 1,120,000
Al 280,000
01 A28l 1,400,000 1,893,160 A\493,160
O ==clAld ==+ 1,400,000,000& 1,400,000
< 1,120,000
Al 280,000




SA AL
MM SEHALET
ol sPdLE MDA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sHALE oA 9,383,263 10,707,463 1,324,200
= 257,000
== 377,000
Al 8,749,263
St THHIE4=I0e 295,000 1,345,000 A1,050,000
401 Al HIZL 201 295,000 845,000 550,000
01 Al&HI 295,000 838,709 ABA3,709
O Hd8 HEH =LAt
70,000,000 70,000
O 23 2502 M=X(THERN) ELAY
80,000,000 80,000
O 238 S302 M==X(S3H) ELAY
50,000,0002 50,000
O 230! AF0IE HAXORH) EEAY
70,000,000 70,000
O & A0S M=X(ZN) LAY
25,000,000 25,000
SHUTHHI S NS A (EX) 321,250 321,250 0
= 257,000
Al 64,250
201 =3 31,250 31,250 0
= 25,000
Al 6,250
01 At2tltl 15,000 15,000 0
O Sl S0 AL (FHEIY L)
15,000,000 15,000
= 12,000
Al 3,000
02 S3=gHl 16,250 16,250 0
O EHEUHHI SFHLAMS(SFJUXR)
16,250,000 16,250
= 13,000
Al 3,250
206 M=l 10,000 10,000 0
= 8,000
Al 2,000
01 M=4l 10,000 10,000 0
O Sl EMHEA (K7 EL)
10,000,000 10,000
= 8,000
Al 2,000
401 Al HIZL 201 280,000 280,000 0
= 224,000
Al 56,000
01 Al&H| 280,000 280,000 0
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M sEEAFEW
ol sPdLE MDA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O sr2ibIES=H A
280,000,000 280,000
= 224,000
Al 56,000
SZEHIAY 1,885,800 2,172,000 A\286,200
== 48,000
Al 1,837,800
401 AIEHIZ SR 0HYI 1,885,800 2,172,000 A\286,200
[ 48,000
Al 1,837,800
01 Al&HI 1,885,800 2,167,374 A281,574
O ==28H| Udoig At
200,000,000& 200,000
O sZ&HIME EXEE & SII018 ==
L= 100,000,000 100,000
O SZEHIAMY EXZ2aH]
200,000,000 200,000
O ARZAIE MAX FH(LLH AL0t2
AWEISA 160,000,000& 160,000
= 48,000
Al 112,000
O =59 ME0e S2EIESAH2)
30,000,000& 30,000
O =0 SM0lE SRTFBA
20,000,000 20,000
O =3 Ed0tS 0tAZ [N SA
20,000,000 20,000
O =S¢ sisite s2EITANQ)
10,000,000 10,000
O g8 Oiddel sZ2FHISAL
20,000,000 20,000
O ¥4 nedts(+32l 1161) s2EF
20,000,000 20,000
O A0 AHOIZ A% U 52 HEE 2
At 40,000,000 40,000
O AMD 22012 45 U 52 TS
28,000,000 28,000
O 2448 IS0ls s SA
31,000,000 31,000
O 2dH ZENE sZEIESA
2,500,000& 2,500
O 248 NS0l= s SM
6,300,000& 6,300
O 2dH MAllE sZEISA
20,000,000 20,000
O 1=2H AS20t= (852 1080) S22
At 10,000,000& 10,000
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BN =R
ol sPdLE MDA
S - B - SRA(SIH) - HSAY - BYS of et o
O 18H oletite sZEBISA
40,000,000& 40,000
O <M Z&el 13669 A= SA
32,000,000 32,000
O 28 20 (&=cl 121)s2EZH3A
20,000,000& 20,000
O Z2H NaDtS(Lel 8%) s2 ZES
At 20,000,000& 20,000
O E2Y 38| &772 43 S2EEIA
20,000,000 20,000
O HOP 22| 47-1 YW S2HETN
13,000,000 13,000
O U ZLi2(2Uel 9B5) s2EE2A
20,000,000& 20,000
O F28 A0S (tHatel135-53) =228 o
=2 S At 10,000,000 10,000
O Z=2H ZXits (=l 1431)=s2EESA
15,000,000 15,000
O EHQIH OHAIZl 756 WEEHIZS At
8,000,000 8,000
O EHQIH &A0tE sZEHISAL
35,000,000 35,000
O EHQIH NTHOIE sZ2EFESAL
25,000,000 25,000
O el ADIOE sZ22ESA
45,000,000& 45,000
O By ALA0Es s EEHIA
30,000,000 30,000
O EHeIH ZTHOIE sZ2EHISAL
30,000,000 30,000
O el HE0s s2ZISA
35,000,000 35,000
O Bl 2S50ts s2EE3A
25,000,000 25,000
O 2=Y 2302 (H Sl 1039-1) L=+
S A 25,000,000& 25,000
O Zd=H 2SR A2 ZHIM
30,000,000 30,000
O =8 202 s2 ZESA
13,000,000 13,000
O Z=H EQ0tE 7 =2 ZHBA
9,000,000& 9,000
O 3% UWEIe sZZISA
40,000,000& 40,000
O 2SS0 HANIS S2ASBA
32,000,000 32,000
O SsY HUtE s2EESA
35,000,000 35,000




SN ALD
MM SEHALET
ol sPdLE MDA (SH9 H2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O s5H Q202 sZTEEZ2A
25,000,000& 25,000
O SSY YH0IE S2EITA
20,000,000 20,000
O Z28H E=0I=(58e 52-3) s=2X24Z
Ab 30,000,000& 30,000
O AUE AD|DIE 2 &3 SAH
17,000,000 17,000
O MUY Mdi0lE s&8 Z&2AE
30,000,000 30,000
O &M 0IXIDIE =2 AF3AH
14,000, 000& 14,000
O W&as 2908 s2M4 2AH
70,000,000& 70,000
O UEHAES Sits sZ2EESA
30,000,000 30,000
O x4ts 28l s Z2EZ2A
75,000,000 75,000
O s4s SHOI2 Mgz ZEISAL
20,000,000& 20,000
O ADS(HHE) 839328 ABZA
30,000,000 30,000
D Z=MEQIZ2HI|HSIEEZ) (MEH 6,492,213 6,492,213 0
401 AlEHIZL L2 0H] 3,832,213 3,832,213
01 Al&HI 3,818,418 3,818,418
O JIHSIEBHZE L EALSA
3,832,213,0002+99.64/100 3,818,418
03 AIEE20HYI 13,795 13,795 0
O JIHSIEBHZE L EALS
13,795,000 13,795
403 XIS IS AH=0|™ 2,660,000 2,660,000
02 SIS0 USHAIEE K E A 2,660,000 2,660,000
O JIHSIE A ZE LA ALA
2,660,000,000& 2,660,000
JIgtRd F=0IEH 0l A 60,000 105,000 A45,000
401 A& H|ILE0HY] 60,000 105,000 A45,000
01 Al&H| 60,000 105,000 45,000
O 280 g@He| BXNAHK? S22 &
HIS At 60,000,000& 60,000
JIehRA NHUES FOIEAAHEHI) 329,000 272,000 57,000
c 329,000
401 A& HILE0HY] 329,000 272,000 57,000
& 329,000
01 Al&HI 329,000 272,000 57,000
O E9&H TH2| A =2 EXIZ2A
20,000,000& 20,000
= 20,000




SA AL
M sEEAFEW
ol sPdLE MDA (SH9 H2)
~ - L=
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O add 210HS =2 EXISAt
20,000,000& 20,000
= 20,000
O 233 dde| s2EEIA
20,000,000 20,000
= 20,000
O =45 SE0t= =2 FBISA
20,000,000 20,000
= 20,000
O 128 &2 =2 EHISA
20,000,000 20,000
= 20,000
O 0|8 gdel 1536 E+2 SHIA
20,000,000 20,000
& 20,000
O 0|8 &=cl %64 Hi+=2 ZHIAIY
20,000,000 20,000
< 20,000
O 018Y &=cl 13105 E+=2 FHIAL
20,000,000 20,000
[ 20,000
O =% stdite E+2 €X3A
20,000,000 20,000
== 20,000
O N=H 8N ZESA
17,000,000& 17,000
== 17,000
O ss4 A= =2 EXISA
50,000,000 50,000
=S 50,000
O SsY 2Z0= == ZHISA
42,000,000 42,000
= 42,000
O gad AS0l= == SHISA
20,000,000& 20,000
= 20,000
O 28 HAlCl 1643 &3 Bi+=Z HHISAt
20,000,000& 20,000
= 20,000
otd EH 21,375,599 18,513,805 2,861,794
= 708,800
s 4,200,000
== 2,030,000
Al 14,436,799
Srofily & Aot EH| 19,199,800 14,011,800 5,188,000
= 4,200,000




S AL
I ot HH
ol Sl 2 Aot AL EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 1,680,000
Al 13,319,800
22 RLotd FHIAI(HE) (M EALY) 8,400,000 4,000,000 4,400,000
= 4,200,000
== 1,680,000
Al 2,520,000
401 AIEHIZ R 0HYI 8,400,000 4,000,000 4,400,000
= 4,200,000
=S 1,680,000
Al 2,520,000
01 A28l 8,380,250 3,543,000 4,837,250
O 2R (2=X7) NLotd ZHISA
7,900,000,000&+99.75/100 7,880,250
s 3,940,125
= 1,576,050
Al 2,364,075
O Z=RH(S4X7) XLotd FHISA
500,000,000 500,000
= 250,000
=S 100,000
Al 150,000
03 Al 20HHI 19,750 7,000 12,750
O 2R (A=XF) XLoHE HHISA
7,900,000,0002*0.25/100 19,750
= 9,875
== 3,950
Al 5,925
NLote SXE4=A (KHA) 610,000 402,000 208,000
101 @124H| 200,000 0 200,000
M ORIMZZ2NSE S 200,000 0 200,000
O SHEMY |A2el 2
200,000,000 200,000
401 AIZHIX S0HH 410,000 402,000 8,000
01 AlZH| 407,840 402,000 5,840
=8 WA Xeotd FHISAH
50,000,000 50,000
O dteiet 2XE XILotE HHISA
45,000,000 45,000
O (Mg FLUotMEH
15,000,000 15,000
O XNgotd URMNZAIS
300,000,0008%99.28/100 297,840
03 Al 20HHI 2,160 0 2,160
O Xgotd SIHNZ A
300,000,000& *0.72/100 2,160




SN ALD
2 ol Fl
ol Sololle & Aot | EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
A0t FAE=AS 885,000 1,240,000 A355,000
401 Al HILS0HY| 885,000 1,240,000 A355,000
01 Al&HI 885,000 1,240,000 A355,000
O =40t FdISAH 50,000,000 50,000
O &us WsSAoHE HUISAH
25,000,000 25,000
O UEAS SEA0HE ZUISAH
50,000,000& 50,000
O =43 EHACHE FHISA
70,000,000 70,000
O HYs AHA0HE JHISA
90,000,000& 90,000
O LM MI|ASHE HHISA
100,000,000& 100,000
O dAH Dot AsHE MF A ZHISA
100,000,000& 100,000
O N2H HAAGHE HHISA
100,000,000& 100,000
O A2 AGHE FUIAI
300,000,000& 300,000
St EA A 600,000 600,000
201 LBt AH| 600,000 600,000
01 AtR2telt] 600,000 600,000
O ot&st==40 2 HHILRHBMHSHS
) 600,000,000 600,000
Aote HUIAFG (MEAIY) 8,304,800 7,304,800 1,000,000
201 B2 AY| 4,800 4,800 0
01 A=R2teld| 4,800 4,800 0
O ot&2e|d R =& E2X 24|
8,000 x5 x 10 x 12J1 2 4,800
401 Al HIL £ 0HY| 8,300,000 7,300,000 1,000,000
01 Al&HI 8,276,330 7,272,460 1,003,870
O 2518 ESEUINE +2i2
2,500,000,000& 2,500,000
O Z232H =SA0t& HHISA
500,000,000& 500,000
O 230 HASHE FHHIAIY
1,200,000,0002 *39.64/100 1,195,680
O 280 BAHAASE FHIAS
2,400,000,000&%99.64/100 2,391,360
O G3H 2eAotd ZHIAS
900,000,000 %939.37/100 894,330
O &UsS (340t AL
800,000,000&%99.37/100 794,960
03 Al CHYI 23,670 27,540 A3,870
O 220l wDASE HblAI
1,200,000,000&*0.36/100 4,320




SA AL
M 51 B
ol Sl 2 Aot AL EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
O add =oiAold HHIAY
2,400,000,000& *0.36/100 8,640
O dus H==20td FBIALY
800,000,000& *0.63/100 5,040
O 2es 251458 FUIAY
900,000,000& *0.63/100 5,670
Sl Mg 22l At 400,000 400,000 0
101 @124H| 400,000 400,000
M OIRINZZE2NSE S 400,000 400,000
O oMY NM=HH0 TE AR A (23K
S¢S) 400,000,000 400,000
ot = Xl2tel 2,175,799 4,502,005 N2,326,206
= 708,800
= 350,000
Al 1,116,999
2016te RXE=MH(EX) 673,800 941,000 N267,200
= 673,800
101 @124H| 242,800 136,700 106,100
= 242,800
04 JIZtN2 2N S 2+ 242,800 136,700 106,100
O =Jlotd RXE+ 21244|
242,800,000 242,800
= 242,800
201 fer= 3| 189,000 124,300 64,700
= 189,000
01 At2teltl 164,000 100,000 64,000
O =Jototd |X2=+ ZHIXt
164,000,000 164,000
= 164,000
2 s5=4g4l 25,000 24,300 700
O ADEEZLAAY ZERS (M), S
&) 25,000,000& 25,000
= 25,000
401 AlZHIZL RO 242,000 680,000 A\438,000
= 242,000
01 AlZ8| 242,000 680,000 438,000
O ZHbi+==2 S 100H4 LA
151,000,000 151,000
= 151,000
O =Itotd "RXE=+ 80,000,000 80,000
= 80,000
O =0totd HHEXIE FH]
11,000,000& 11,000
= 11,000
2016td RXI24=AHS (XHAl) 89,358 82,015 7,343




SA: AT
I ot HH
(=8 FIES E N Rl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 74,221 66,378 7,843
M ORINZZE2NSES 74,221 66,378 7,843
O E&FH JI8H E
91,6303 +x90 2 +03] 74,221
201 Zet=3h] 16,137 16,637 2500
01 AtR2t2|HI 13,705 14,205 A500
O otd MolAZA+ L S0tF ZHIEX
770,0002 %16.5CH 12,705
O 818 ZAASZY QEEE 7Y
200,000& 5% 1,000
2 s5=34l 1,432 1,432 0
O ostdAEE & I=FMA AANES 2
HAH 43031+3,330H 1,432
I5d 2l 385,485 1,678,990 1,293,505
101 ©1AH| 217,195 200,000 17,195
04 JIZtN2Z2XNSE+ 217,19 200,000 17,195
O 2834 M= s 2RY
1974503 x100E 113 217,19%
201 er23 | 78,290 71,990 6,300
01 At2teltl 36,570 30,270 6,300
O Z&8d NM=&Y Yt
990,000& = 13CH 12,870
O 388 2372 (HEA2E & 35384
25 7¢) 15,000,000& 15,000
O HS® HZE S el o2 ONEE 79
5,000,000& 5,000
O d&d M| Ot
6,000&+500& 3,000
O stdzel 22X II=H(yets ¥ ¢etat
) 350,000 2 700
2 S52g4l 4,720 4,720 0
O gsd &lies 1,250,000& «12& 15,000
O g8d sAlZadbl 10,000,000& 10,000
O st 2exted 2 sE0=I KAl
1,100,0002 * 1294 & 13,200
O d&5d A¥a a1l
1204 2-%42] %60, 0002 +29H 2 +42] %80, 0002
3,520
206 MH=HI 65,000 65,000
01 MHZHI 65,000 65,000
O ¥sd 228 82 7
50,000,000& 50,000
O HSH 2R HIZ 2
3,000,000 3,000
O HS8& 228 d=I M- (0=2] &2
£8) 500,000& »242] 12,000




SA AL
Z: 51E Z|
(=8 FIES E N Rl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 25,000 2,000 23,000
01 It =S F = 25,000 2,000 23,000
O F8d el o=Jl 7
500,000 =4CH 2,000
O o= 2ux 2y
11,500, 0002 =2CH 23,000
NYotd =X2el 700,000 1,800,000 1,100,000
< 360,000
Al 350,000
401 Al HIZL 01| 700,000 1,600,000 A900,000
= 350,000
Al 350,000
01 Al&H| 700,000 1,600,000 A900,000
O XNEotd FA2A
500,000,000 500,000
S 250,000
Al 250,000
O Xeshd AIES(FIS) ZY ZIIBY 2 R
=L 200,000,000 200,000
& 100,000
Al 100,000
Y FEISE X2 A 254,156 254,156
201 er23| 61,580 61,580
01 AtR2t2|HI 61,580 61,580
O &t Oh=o18 Zg A
41,580,000 41,580
O &2/ OIS S3FHIAIS (ZIYX
o MBS ALY) 20,000,000 20,000
301 EtE NS 10,000 10,000
11 dALEEIXIZE S 10,000 10,000
O ¢tUH EsnFEdsiAg
5,000,002 5,000
O AHAS! S3IES THHY MEIX| 248
5,000,000& 5,000
401 AIEHIZ R HYI 63,612 63,612
01 Al&H| 63,612 63,612
O 228 dZE EXIAY
37,627,000 37,627
O &l QIABHZ AL 25,985,000 25,985
402 2I2FX=01 & 118,964 118,964
02 QI XHE AL E R (01X THE) 118,964 118,964
O MUE skt S s8=23 78 & S8
A& =2l 118,964,000 118,964
SULEHI=LAAIE & OIFHA 3,000 0 3,000
201 Ler23 | 3,000 3,000




S AL
I ot HH
(=8 FIES E N Rl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,000 0 3,000
O HE2Y HASK W2As42
3,000,000& 3,000
20t AOIE AS2ACIAAE AEAY 70,000 0 70,000
= 35,000
Al 35,000
401 AIEHIZ SR THYI 70,000 0 70,000
= 35,000
Al 35,000
01 Al&HI 70,000 0 70,000
O 4818 ADIE HZB2IAAE
70,000,000 70,000
= 35,000
Al 35,000
C2ae] 11,238,351 12,748,956 21,510,605
[ 526,386
Al 10,711,965
CRAIE2EAY 3,521,480 5,574,004 A2,062,524
= 405,000
Al 3,116,480
WSA DR 2IHE AL 221,480 1,120,000 898,520
201 er23| 4,480 0 4,480
01 At2teltl 4,480 0 4,480
O E2AIE 2| Z52 NgES 728
200,000 3 600
O E2AME MRES 7Y
1,000,000 1,000
O E2Ag g2F8 S24 SA|
8,000 =3 * 10« 1204 2,880
202 04t 2,000 2,000
01 =LHOHI 2,000 2,000
O E2AIEE 25 24 ol
2,000,000 2,000
401 AIEHIZ SR OHYI 215,000 1,120,000 905,000
01 Al&HI 215,000 1,112,530 897,530
O 239 HUXZ 2LIA
50,000,000 50,000
O UW&as SSuiz T2ADHESA
20,000,000& 20,000
O KEelE # == (140 7)) &E
HES AL 65,000,000& 65,000
O EHeIH SAHLXIZ =27E JHE S A
30,000,000& 30,000
O FES(NZ128H) SR I ETA
50,000,000& 50,000




S AL
M E2ae|
Chelr EZAIE2e|AtY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WSADRSRNL AL (HEAL) 720,000 306,000 414,000
= 360,000
Al 360,000
401 AIEHIX S0 720,000 306,000 414,000
= 360,000
Al 360,000
01 A28l 720,000 306,000 414,000
O 12H F=MXE dE HESA
170,000,000 170,000
== 85,000
Al 85,000
O =88 MEXE 3lduxt2 EXISAt
150,000,000 150,000
= 75,000
Al 75,000
O =6 FseAH2l 2d W2 2XI3
At 400,000,000& 400,000
== 200,000
Al 200,000
et st T AL 740,000 2,300,000 1,560,000
401 AlZHIZ SO 740,000 2,300,000 A1,560,000
01 Al&H| 738,650 2,285,600 21,546,950
O eI=3H| UHNZAS
200,000,000 200,000
O LGOHIE QIEIHE S AL
60,000,000& *99.10/100 59,460
O HH2(FFDMARAE0IAT) QC
SA 20,000,000 20,000
O 2UE 9S(FES-LRUH0ie) A=THZE
ZSAH 90,000,000& *99.10/100 89,190
O AEQIE AIDHAl WEole HHISA
20,000,000 20,000
O W&=u He0l25+7Y ASEXSAt
350,000,000 350,000
03 Al 2 CHYI 1,350 14,400 213,050
O LGOHIIE QUEIHEZ AL
60,000, 000& *0.9/100 540
O R4S 9S(ZES-LRUCHHe) A =THE
SSA 90,000, 000& *0.9/100 810
ADHRL OtAZSIM IS AL 505,000 1,568,004 A1,063,004
401 AlEHIZL SO 505,000 1,568,004 A1,063,004
01 Al&H| 501,220 1,556,028 /1,064,808
O AIJHA HEEI} E+=SAt
50,000,000 *98.92/100 49,460
O ADFXIOIAZ 2120 Z S At
100,000,000& +99.10/100 99,100




SA AL
M E2ae|
Chelr EZAIE2e|AtY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O FHHH~-FLSS W OtAZHEZE S A
250,000,0002%99.28/100 248,200
O FSLR(AIISALN-ELD) OLAETY
HESA 50,000,000 *98.92/100 49,460
O &S WRESMW~R0IEH2 OtAZHES
SA 25,000,000 25,000
O =S -UHHEI(ZE28H) OtAZ T
ZYEAM 30,000,000& 30,000
03 AIZ S THYI 3,780 11,976 A8,19%6
O AIJHAl HEEL} 2+Z At
50,000,000& *1.08/100 540
O AIDFXIOIAZ BIACHZ S At
100,000,000 *0.90/100 900
O FHHHe~-FLSS W OLAZHEZ IS A
250,000,000& *0.72/100 1,800
O ZSE2(AIISAEN~EE1) OtAZTH
HEESAH 50,000,000& *1.08/100 540
C2AE=E EXIAMY 850,000 850,000
401 AlEHIZL SO 850,000 850,000
01 Al&HI 844,429 844,429
O ANECBSHE AAIE] ERERZA
570,000,000299.37/100 566,409
O U=YNE EXSA
150,000,000 +99.28/100 148,920
O 2&WAZ LED =F ZXAL
30,000,000 30,000
O S2H LX0E AXIBA
100,000,000 *99. 10/100 99,100
03 A2 2 0HYI 5,571 0 5,571
O AICHBSHE AAIEY SRS SA
570,000,000& *0.63/100 3,591
O WEYXE EXISA
150,000,000& +0.72/100 1,080
O E2H LXUE &EXIBA
100,000,000 *0.90/100 900
C2AlE 2IEHZE A 440,000 440,000
401 Al HIY S CHYI 440,000 440,000
01 A28l 439,190 439,190
O NZ&E ¥ SAHEEZ QIRAGHZAI (A
=) 200,000,000& 200,000
O ¢Xs 1S (axzA2J~-H3Y) i+=2F
HIS At 90,000,000 *99.10/100 89,190
O KEelE 7 == (HA0S &) 2
ZHISAH 40,000,000& 40,000
O KBRS (P)=2EH(R38F[A &) th
=2 ZUISA 30,000,000& 30,000
O 128 (P)2E05H 27 2 NS
At 50,000,000 50,000




SN A D
M 22

Chelr EZAIE2e|AtY (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O N=2H (P)==954 i=Z2FHIZA
30,000,000& 30,000
03 Al =2 0HHI 810 0 810
O gXsS 10s(Ax1LE~g38) =28
HIS At 90,000, 000& *0.9/100 810
CIae| NALRSE FUHA0AH(EH]) 45,000 20,000 25,000
< 45,000
401 AIZHIX R0 45,000 20,000 25,000
= 45,000
01 Al&tt] 45,000 20,000 25,000
O 445 ZDH1Y OLAR UML) THB
At 45,000,000& 45,000
= 45,000
CRRAZCIAE 7,516,871 6,969,952 546,919
= 121,386
Al 7,395,485
CERA2e N & HHl2Y 1,291,000 794,900 496,100
206 M=l 741,000 669,900 71,100
01 MZH| 741,000 669,900 71,100
O 2248 0122 7Y
74,0002 x100& 7,400
O E2E+E Fott 7Y
18,0002 +5,000% 90,000
O E2248 AlCe 29
58,0002 x200% 11,600
O HolithH#E Zef=mHU 2
4003 *30,000& 12,000
O Zoliti®s 2 &
16,0002 +750m’ 12,000
O otz ga2s-Yy
310,000& +800= 248,000
O 4EHHE 4372
140,0002!*1,000& 140,000
O ACIREE =7
10,000&%10,000m’ 100,000
O =285+ 7L
5,000,000& 24! 10,000
O &2 g ¢ 250,0002 *40004 100,000
O ot&aA 2 200,000 5004 A 10,000
405 KHaHE SH 550,000 125,000 425,000
01 AL =S F=HI 550,000 125,000 425,000
O SHE EREHSNEI] 7 (500)
5,000,000 50CH 250,000
Sejam) 2 60,000, 0002 +4CH 240,000
O Nedd 7Y 12,000,000 +5CH 60,000
C2ANEES FRANEAY 777,000 2,587,000 1,810,000




2A: A4
M =222
ER: EE X2 AFY (Cre|: ®M2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
305 a2 S 5,000 25,000 A20,000
01 HHaI2 S 5,000 25,000 220,000
O &z ZE= X thiaskZ3
500,000 *10H 5,000
401 A& HILE0HH] 772,000 2,562,000 A1,790,000
01 Al&H| 768,184 2,550,264 A 1,782,080
O E2EXT EHIAIY
4,000,000 x70J1 A*99.28/100 277,984
O XotXE & F=RHYE dAs8d
6,000,000 * 11 A *23| 132,000
O XNotXE & F=RHY 212842 A
50,000,000 & = 1A 50,000
O YAEs Pa o 83 2A
100,000,000 %99.10/100 99,100
O 1M HH S =SHHZ2A
100,000,00024%99.10/100 99,100
O KNIGHRIE £=Hi&EE O|AAIE D2 & AA|
HAHEA 80,000,000& 80,000
O 2TRA ZH L ==Y
500, 0002 60! X| 30,000
03 Al 2 0HHI 3,816 11,736 NT7,920
O E2EX& HHIAIY 2,016,000& 2,016
O LASNS Pa U SXBA
100,000,000 %0.90/100 900
O DML HOH S =ZHHSAH
100,000,000 *0.90/100 900
wEEA U Ha 3,466,000 1,501,000 1,965,000
= 114,000
Al 3,352,000
401 A& H|ILE0HY] 3,466,000 1,501,000 1,965,000
& 114,000
Al 3,352,000
01 Al&H| 3,452,039 1,495,240 1,956,799
O ANEY W S dLEA=A(HS)
380,000,000& =14 380,000
= 114,000
Al 266,000
O ANSEY g MM ASA(AHS)
24,000,000& *1AI%x23| 43,000
O AR2 DY LIAHABA
50,000,000 & * 1A 50,000
O sgsn BS82AHY
300,000,0002%99.28/100 297,840
O 4t B2 AIY
66,000,000 14 66,000
O Hotw B8 2AHY
41,000,000 * 14! 41,000




SA: AT
M Sz
@2l E2FX2clAtd (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O gEn(=S0e)) 423
130,000,000& * 99.28/100 129,064
O Sdu(d) Ex22AY
115,000,000&%99.28/100 114,172
O Sl (3 E+22A
87,000,000 14! 87,000
O SASW(Y) BB
103,251,000& 103,251
O 380 222 Ad
600,000,0002+99.37/100 5%6,220
O =4t B2 2A
1,530,000,000& *39.64/100 1,524,492
O HE2YE HZAIE RA2ACEY
15,000,000 15,000
03 AlE 2 CHYI 13,961 5,760 8,201
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